John Deer Gator Bulkhead
Fits: HPX 4x4, XUV 620i, XUV 850D

P/N 10433
Includes: " /
1. (1) Bulkhead 0000
: 1 HHRAOSE ORI, Yovave
2. (4) P/N 9881 Quick Connect Clamp L RXRERRY R

RO
KRR
% m’!‘t‘f

0
‘f‘t“‘u KB
X 662‘:' X

XN
Q0 X >
3. (1) Logo Sticker {:‘:"‘“‘Q“ \“

Installation:

1. Remove thumbscrews and nuts from clamps.

2. Position bulkhead about 1”” above the front of
the cargo bed. The top flange goes toward the
rear of the vehicle.

3. Using the thumbscrews attach the bulkhead to
your ROPS. Put the 1/4-20 nylon nuts on last,
be careful to over tighten them.

4. After, installation you can easily remove your
bulkhead without any tools. Simply, remove
the thumbscrew and the clamps remain on your
ROPS.

John Deer Gator Bulkhead
Fits: HPX 4x4, XUV 620i, XUV 850D
P/N 10433

Includes:

1. (1) Bulkhead R et

2. (4)P/N 9881 Quick Connect Clamp W&”‘""“‘t‘

3. (1) Logo Sticker A ‘mt.:.g:ggg:ss,‘;g. %l

X8 N

Installation:

1. Remove thumbscrews and nuts from clamps.

2. Position bulkhead about 1”” above the front of
the cargo bed. The top flange goes toward the
rear of the vehicle.

3. Using the thumbscrews attach the bulkhead to
your ROPS. Put the 1/4-20 nylon nuts on last,
be careful to over tighten them.

4. After, installation you can easily remove your
bulkhead without any tools. Simply, remove
the thumbscrew and the clamps remain on your
ROPS.

ey
3 ! 0" 0‘0.‘ QOO Q""v V‘\\y V‘V‘ A

John Deer Gator Bulkhead
Fits: HPX 4x4, XUV 620i, XUV 850D
P/N 10433

Includes: /
1. (1) Bulkhead S oRr o Tey Vavay,
2. (4) P/N 9881 Quick Connect Clamp ’~‘.’~§§§.~3{:’ tgtgc:.f,&: X
3. (1) Logo Sticker \ "“""?"St’.::‘::’t‘t&,"?. X0

*«‘6&2‘:’ A ¥
Installation:

1. Remove thumbscrews and nuts from clamps.

2. Position bulkhead about 1”” above the front of
the cargo bed. The top flange goes toward the
rear of the vehicle.

3. Using the thumbscrews attach the bulkhead to
your ROPS. Put the 1/4-20 nylon nuts on last,
be careful to over tighten them.

4. After, installation you can easily remove your
bulkhead without any tools. Simply, remove
the thumbscrew and the clamps remain on your
ROPS.

John Deer Gator Bulkhead
Fits: HPX 4x4, XUV 620i, XUV 850D
P/N 10433

Includes:

1. (1) Bulkhead

2. (4) P/N 9881 Quick Connect Clamp
3. (1) Logo Sticker

AKX
QOO
XX KX
NS S
..&\Q‘t‘g‘:‘: R N
Al A\ N

) DY
i RSO0

Installation:

1. Remove thumbscrews and nuts from clamps.

2. Position bulkhead about 1”” above the front of
the cargo bed. The top flange goes toward the
rear of the vehicle.

3. Using the thumbscrews attach the bulkhead to
your ROPS. Put the 1/4-20 nylon nuts on last,
be careful to over tighten them.

4. After, installation you can easily remove your
bulkhead without any tools. Simply, remove
the thumbscrew and the clamps remain on your
ROPS.

e, YaVay,  *
00 \
QN S XY



